M24 (mod 2)

blocks | defect | matrix

G: 1 10 26 x 13

Block 1: | o1 @2 w3 w4 @5 w6 @71 s P9 P10 P11 P12 P13
Li=xa| 1 .
231 = X2 1 1 1
451 = X3 1 1 .
%2 =x7| . 2 2 1 1 1
2531 = xs 1 2 2 1 1 1 .
4831 = x9 1 1 1 1 1 1 1 .
770, = X10 1 1 2 . 1 1 1 1 .
7702 = x11 1 2 1 1 . 1 1 1
9907 = x12 2 2 2 2 1 1 1 1
9902 = X13 2 2 2 1 2 1 1 1
10351 =x14| 3 2 2 2 2 1 1 1 1 .
10352 = x15 2 1 2 1 1 1 1 . 1 1 .
10353 =x16| 2 2 1 1 1 1 . 1 1 1
1265y =x17| 3 3 3 3 3 2 1 1 1
17711 = X18 5 5 5 4 4 3 1 1 2 .
20241y =x19| 2 2 2 2 2 1 1 1 . 1
2277y =x2| 3 2 2 2 2 1 1 1 1 . . 1
33127 = x21 4 3 3 2 2 2 1 1 2 1 1 1
35200 =x22| 6 7 T 4 4 4 2 2 A4 1 1 . .
53131 = xo3 3 4 4 2 2 2 2 2 1 1 1 1 1
56441 =x24| 8 9 9 6 6 5 3 3 4 1 1 1
57961 =x25| 4 S5 &5 3 3 3 2 2 2 1 1 1 1
103957 = x96 | 11 12 12 8 8 7 4 4 5 2 2 2 1
1 = 1 o5 = 220,
g2 = 11 _
Y9 = 252y
w3 = 1l — 390
0y = 441 ¥10 1
= 320
o5 = 44, P11 - 2
P12 = 12421
vo = 120, = 1792,

Y7 = 2201 P13



